QUESTION BOOKLET
This question paper contains 170 questions, /SHIFH T H 170 W1 £ |

All questions are compulsory, / @t ¥ A § |
One question carries half mark only / T W99 & foTq Faes smn s @ |

Maximum Marks : 85 Ffywan 37 : 85
Time : 2 Hours UG : 2 gug
+ 1. Rubberisa .
(A) Conductor (B) Semiconductor
(C) Insulator (D) None of these
. TR ) .
(A) HETS (B) s (C) U (D) 779 8 =14 78l
2.  Which process is used in atom bomb ?
(A) Nuclear fusion (B) Nuclear fission
(C) Chemical reaction (D} None of these
TN 1 (ST 9R) T 8 B 1 whna g 86 2
(A) iy gea (B) by fage
(C) trarfre fifwm (D) 5
3. Which acid is present in human stom
(A) Hydrochloric acid (BY) Acetic acid e
(C) Tartaric acid D) Gxahc acid Eni
ﬁ_-l
(B) wHiies ava
(C) 2T 4 (D) ariifaT e
4. Whigh issedito prepare the voter's ink ?
(A) Silver lodide (B) Silver Nitrate
{(C) Hydrogen Peroxide (D) Ferric Oxide
qITH § (FaaH 3 YT @) T § 991 wed Bl @ 7
(A) faeat aTmiEns (B) faeat meie
(C) ¥R Yiease " (D) %R s
5. 'Which is called a strategic metal ?
%‘% Copper (B] Aluminium (C) Lead (D) Tin
(AT Te 1) urg w7 @ @ 2
(A) afa (B) U.Fgﬁrﬁmr (C) dmm (D) &=
6.  Which is a rencwable natural resource ?
(A) Sunlight (B) C{ml (C) Petroleum (D) Natural £as

(A) F%?m (m m‘lum (C) Tiferay (D) wipfas g

TN IR 1S e — e e o —— e =
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10.

I1.

13.

14,

Main constitutent of Gobar gas is

(A) Methane (B) [Lthane (C) Propane (D) Butane

TR Y %1 90 9T |

(A) faem (B) 34 (C) ¥ (D) =gA

What is rusting ?

(A) Galvanization with Zinc (B) Corrosion of Iron

(C} Corrosion of Nickel (D) None of these

e |

(A) 5% Q ez (B) g 1 qemu

(C) Trnet o1 Hamw (D) 39 4 %I Ag

Density of water is maximum at

(A) 0°C (By —4°C (C) 4°C (D) None of these
a1 g9 = 3ifawan g e ?

(A) 0°C (B) —4°C (C) 4°€ (D) ¥4 A &g el
Deficiency of protein causes

(A) Scurvy (B) Pellagra

(C) Night-blindness (D) Kwashiorkor

T i =t § g 2

(A) Tl (B) YeTm (C) i (D) FRRERR

Pernicious anaemia is caused by the deficiency of which vitamin ?

% Vitamin C  (B) Vitamin D _ (C) Vitamin K (D) Vitamin B,
faaifia £ w5 @ grae wifear ?

(A) afm¢e (B) MafmADp (0 FeRK (D) ffm B,

The world’s most poisonous snake is

g:z}a Python (B) Bull Snake (C) Milk Snake (D) Sea Snake
%1 g8 Wallan 99 8 ‘

(A) FATT . (B) g@®lm, (C) faemmim (D) wgdiEl

Which is the largest gland of human body 7

(A) Liver (B) Pancreas

(C) Pituitary gland (D) Thyroid gland

g TR A wan g afu S di 2 2 _ _
(A) aFa (B) =TIy (C) digmufa (D) sz Tl

Which Indian state is in the west of HLP. 7

(A) Haryana (B} Punjab (C) Uttarakhand (D) U.P,
EAERIEEGIE RIS R TS 'qfvliltrﬁ%? _

(A) sf@mm (B) YSH (C) ITEs (D) 3%
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16.

18,

19.

20.

B e o ek e e+ e = 1

The largest lesser Himalayan range is

A) Pir Panjal - (B) Dhauladhar (C) Cheordhar (D) Zaskar
Ay 7t g ferera Aoft 2

(A) tRese (B) demr (C) I3uw (D) FTERT

FLP. became the Chief Commissioner Province on

(A) 15 April 1948 (B) [ September 1960
(C) 1July 1954 (D) 25 January 1971
f2.9. o e wid w3 a7

(A) 15309, 1948(B) | formmat, 1960 (C) | 5=, 1954(D) 25 9d), 1971

Capital town Shimla belongs to

(A) New IHimachal area (B) Old Himachal area
(C) Both (A)and (B) (D) None of these®
AT 31t famen el W 7

(A) T2 fenmaer &3 1

(C) (A) R (B) A

Lama Dal lake is situated in which di
(A) Kangra (3) Shimla

o 2 3 e, % ferg
(A) TS

*Tant Gari’ i

(D) Kullu

(D) Fe

' Of which river of LP. ?

h B Satluj (C) Chenab (D) Ravi
?‘q“rzﬁlmw%
(A} (B) WA (C) = @ (D) T

*Shibu-Ka-Than' is located at which place in H.P, ?
(A) Nurpur (B) Palampur  (C) Trilokpur (D) Trilokinath
f-w-ym Ry i e Ra e ?

(A) T (B) TR (C) ﬁ?«ﬁw (D) faeifiy
The capital of Kiratas was at

(A) Kirgram (B) Baned (C) Hindur (D) Kehlur
Terrar &t e @ <t ¢ _

(A) Term (B) 1% (C) & (D) wEq

Mahamaya Bala Sundri temple is located at which place in 1P, ?
(A) Udaipur ﬁg} Tnlokpur (C) Paragpur (D) Bilaspur
HEmTE ATe el wiet B.9. 0 fra rm o feua 2 2

(A) IR (B) ﬁ?ﬁ-ﬂt (C) TUTR (D) faemEg

——— A — S e ————
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29,

30.

Which ruler of Kangra defeated Jassa Singh Ramgarhia in a baule ?

(A) Sansar Chand (B) Bhuma Chand

(C) Susharma Chand N (D) Ghamand Chand

1Ml % Fra e 3 orers o s fog vy =t gofae fem 2

(A) Harse (B) THa (C) gEmg (D) wHzHg

The headquarters of Kinnaur district of 1LD. is

(A) Pooh (I3) Kalpa (C) Recong Peo (D) None of these
f.1. & fer=itt fot = e el wu fRua 2 7

(A) I8 (B) e (C) fwmfaan (D) T AFE A
Total number of Panchayat Samitis in TLP. is

(A) 72 (BY 75 _ (Cy 78 (D) None of these
fe. 3. 1 e winfedi 6 Fo GEmamn @ 7

(A) 72 (B) 75 (C) 78 (D) 390 | i3 i

Great Himalayan National Park is located in which district of LLP. ?
(A) $Irm0ur (B} Shimla (C) Lahaul-Spiti (D) Kullu
f2.9. % form a1 4 e T oy e fam 2 0

(A) Toudn (B) fimen (C) wEE-wfifa (D) FeeL

Bir-Billing is famous for

{A) Nine-hole golf course (B) Ilce Skating,

(C) Hang gliding (D) Trout fishing

di-fafem foas fau afgg R 7 _

(A) TTER-B TTeH T (3) HEa Ehidn

(C) &nTemsfen (D) i3z fwfom

Ghanwi hydel project is located in which district of H.P. ?

{A) Shimla [B} Una (C) L}il-.mpur ([3) Hamirpur
Al gr3ed (9e) v ey #fra i fem i o

(A) fomren (B) F (C) faemaq (D) &@
The headquarters of the H.P. State Co-operative Bank is at which place ?
(A) 'Sl1in1'[n (B) Solan (C) Kangra (1> Mandi
&5, Wz - sivifea <& =1 qerem Fel w fRm g 2

(A) faen (B) TreH (C) =T (D) T#

The Parshuram award was introduced by H P Sports Council in which year ?
fe.%. Gt itz g wrepm qoesn fam ad wiy fam man o
(A) 1982 (B) 1987 () 1992 (D) 1997

Code No. : C-615/2020/Scries-C 6 T



31,

KL}

Who was the first Governor of 11.P. ?

(AY S. Chakravarti (B) N.C.Mehta
(C)Y K.C.Mchta (D) N.C. Nandi
fe. 9. =1 wom T SR @ 2

(A) BB =Fad  (B) WA TR (O) %l dga (D) w5

Deoli fish farm is located in which place ol 1L.P. 2
(A) Bilaspur (B) Kinnaur (CY Chamba (D) Solan
Sailelt Fe o L. H frr A fRm 2 0

(A) Taamg (B) =t (C) = (D) HieH
Sari fair is celebrated at which place in ILP, ?

(A) Sundemagar (B) Arki (C) Palampur (D) Nahan
arll wen fa. . 1 form wum s a2 2

(A) HITER (B) k] (C) IR (D) e

Which Indian city was recently certified formally as a World Heritage site by
UNESCO ?

(A) Varanasi (B) Ahmedabad (C) Jaipur (D) Nagpur

1 | WITHT T2 1 BTl 1 B afta=niees 9 4 et 6 fiza aie = § wofe
a2

(A) @] (B) AR (C) AW (D) ArTg

Which Indian celebrity was at the top spot in the latest brand valuation study
by Duff & Phelps ? i

(A) Akshay Kumar (B) Virat Kohli E‘fﬁ

(C) Shahrukh Khan . (D) Priyanka Chopra

B% N Feu Zrn R Tl s godie & arer § fee v SRt 1 i
T 9T B3 8 2

(A) H&WF (B) fam=eeh (C) weswwEr (D) fidws Sue

Which Indian actress was recently presented with the "Kishore Kumar
Samman® Award for 2018 by the Madhya Pradesh government ?

(A) Hema Malini (B) Vyjayanthimala

(C) Asha Parekh (I} Waheeda Rehman

fera e sthrsht =61 g @ ° mo wem T gro ad 2018 % fon <feein Fow
A QERR fem mn 2

(A) et (B) ddmen () stmui@ (D) =i @A

—_———— —— s —— —— S S S — i !
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37.

38.

39.

40.

41.

42.

Pranab Kumar Gogoi, who recently passed away, was a famous personality
in which field ?

(A) Sports (B) Literature  (C) Arts (D) Politics
et & 7 feam o A g e i & gefrg efe & 2
(A) G (B) wifgea (C) e (D) Teifa

Which banker of India has been named as the Central Banker of the year
(Asia-Pacific 2020), by the Banker magazine ? :

(A) Raghuram Rajan : (B) Shaktikanta Das

(C) Urjit Patel (D) Viral Acharya

e o g0 wma & form S 1 Hge de o1fs T 3 (f-fafes 2020)
amfem T g 2

(A) HTEF  (B) wiEs@ed (C) IFawa (D) fawa w=d
What is the maximum insurance provided for bank deposit
Union Budget 2020-21 ? @
(A} I lakh (B} 2lakh (C) 251akh @
Tefan g g5 2020-21 g1 3% feuifre w frgaarfue
R?

as per the latest

(A) | &M@ (B) 2¥@ JR (D) 5@
In which Indian city, the Indian epducted its coastal security exercise,
‘Matla Abhiyaan® recently ?
(A) Cochin (B) Kolkata
(C) Mumbai (D) Vishakhapatnam _
"\. _I,ﬁ' . -.I--: L )
(A) G, | WB) ®FEm (C) 1= (D) famm@mem
According "to the recent Economic Survey 2019-20, which state has the

cheapest vegetarian Thali (Food plate) ?

(A) Kerala (B) Jharkhand (C) Bihar . (D) Tripura
qanT el FE&91 2019-20  33an forg v 1 T Tl W gt (A
qrel) 3 2

(A) (B) ¥ (€) fagm (D) Frgu

Which global tech firm has recently launched a shori-video making
application called ‘Tangi’, which focusses on creativity ?
(A) Microsoft (B) Adobe (C) Facebook (D) Google

T Afvaes Drenfieht wif 3 g € 1 o ifsdl g arel velivmm o afm a

2, N g FaI M Ha & 2
(A) TEFEIE  (B) W (C) ¥Wg® (D) T™

Code No, : C-615/2020/Series-C 8 :




43.

44,

A6

47.

Which has been ranked among the top 30 think tanks globally, as per a recent
report ?

(A) NITI Aayog

(B) Centre for Civil Society (CCS)

(C) The Energy and Resources Institute (TERI) EEE

(D) Observer Research Foundation (ORF)

AT fOi 3 a7 v & vid 30 offs F 8§ qeflag 2 2

(A) ifq amam (B) € fafas g (CCS)

(C) quAs 6g fiEH 51392 (TERI) (D) aitesek {9 B1339H (ORF)

What is the name of the mobile application launched by the Government of
India, to enable people assess the risk of corona virus infection ?

(A) Bharat Corona (B) India Fights

(C) Aarogya Setu (D) Covid India

HIU ERE HFA o Afaw & o w3 & fow Sl & gam 591 % fow wig
FUEHT G 1A €l FET5el Tl 1hyH i ) s 2

(A) YA B (B) AR (C) ammdg (D) Ffag i

Gita Ramjee, an Indian Origin South African who recently passed away after
contracting coronavirus, was associated with which profession ?

(A) Economist (B) Virologist

(C) Sportsperson (D) Business person

FITAT T % TFAY 5 S0 g1 8 7 feama ey s, YR g & gféqor
ki & frand fen sraam @ gafm 9 7

(A) s (B) arefae (fmmy dafas)

(C) faenrdi (D) =FagrE

Which letter of the English alphabet is 7" of the right of 13" letter from vour
rest 7

(A) § (B) V (C)Y U (D) None of these
ST Folerm o1 S T A8 IR AR A 139 2w F Tfed 3it 7af waw 2 0
(A) S (B) V () U (D) ¥4 8 %14 7@l

Ankita is taller than Neeraj who is shorter than Anju. Pratibha is taller than
Prema who is taller than Ankita. Who is shortest ?

(A) Neeraj (B) Anju (C) Pratibha {D) Ankita
sfera1, e & ot 3 5 HL A 1A B | whenn, I A il 2 N SifEa G et 2
EEC Ao &

(A) Fra (B) 37 (C) wfmn (D) Ffwm

e e B S e — P —
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T

1" with the first, fifth, seventh, eighth, ninth and eleventh letters of the word
*AFFECTIONATE' a meaningtul word can be formed, then which would be
the fourth letter from the left ?

afe ' AFFECTIONATE' W & 9gal, oied, 6red, e, 14 3R =med sl §
U 1O TR T4 I WAl 2, Al IHHT AW | e 39& R 2

{A) ] {By C (CYy T (DY N
Which is different {rom the rest ?

#amaagfi=e?

(A BD (B3) Jl (Cy RP (D} MO

As “cricket is related to *Bat’, in the same way, ‘Hockey” is related to which
of the following 7

(A} Ball (B)y Fueld {C) Player (D) Stick
I8 Brde, &2 @ afya 2 40 &, g fi § % fewd wafaa 2 0
(A) T3 (B fres () faarE (D) &
Complete the Series |

SERIEAR U ETE

AFT. CIS, ELR, GOQ, ?

(A) JRP (B) IS0 () IRP (D) JSO

Introducing a lady, a man said, " The only son of her father is my lather”, 1ow
is the man related 10 the lady ?

{A) Nephew (B) Uncle (C) Brother () Son

veh TiEE 4 TEER UG g0 U A 3 FEl, “Igep fm &1 T @A 8 1
At 35 3T} @1 39 uigen 4 F EHEU R 7

(A) W/ (B) SRn/Em (C) T (D) @

I the following numbers are arranged in descending order. then which will
be the middle digit of the middle term ? _

af> Frfafirg demal w1 S 70 3 TR 9 | REE T 6 A A
B ?

421,729,514, 652,413, 641, 509

(A) | (B)y 2 (C) 4 (Dy 5

Dircctions (Q. 54 to 58) : Choose the most appropriate option out of four
given alternatives, A, B, C and D to fill in the blank

His master an explanation of his conduct.

(A) calledofl  (B) called up {C) called on (D) called for

Please write me this address.
(A) to (B) at (C) on (D) upon

iy e S — e —— =
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59.

60.

61.

62.

63.

64.

60.

67.

68,

A poor man I knew nursed the orphan.

(A) who (B) whom (C) that (D) which
He often to Delhi on business trips,

(A) goes (B) has gone

(C) isgoing (D) has been going

I have lived in Delhi 4
(A} since five years (B) for five years

(C) hive years ago (D) for five years ago

Directions (Q. 59 to 63) : Choose the word that 1s most nearly the opposite in
meaning to the given word out of four alternatives, A, B, C and D.
Flexible

{;\.} Brittle (B) Rigid (C) Hard (D) Solid
Serenc :

(A) Jovial (B} Moving (C) Agitated (D) Nervous
Prohibit

(A) Accept (B) Permit (C) Agree (D) Grant
Gratuity

(A) Annuity (B) Discount (C) Wages (D) Stipend
Vulgar

(A) Refined (B) Cheerful (C) Jolly (D) Relevant
Meaning of the idiom ‘To get cold feet” is

(A) To run for life (B) To be afraid

(C) To fall sick (D) To become discourteous
One word substitution for ‘One who walks in sleep” is

(A) Somniloquist (B) Egoist

(C) Somnambulist (D) Altruist

Synonym of ‘Pleasure’ is ;

(A) Support (B) Privilege  (C) Comfort (D) Happiness
The pender of *Tiger™ is
(A) Tigris (B) Tigrin (C) Tigress (D) Tiger

Correctly spelt word is
(A) Instichution (B) Institution (C) Institushion (D) Instichushion

- ————— e - i . S— S— — S — - T v -
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69.
70.
71.
72.
73.

706.

1

78.

79.

Hﬂl

81.

82.

83.

Code No. : C-615/2020/Series-C

87 (9. 6949 73) - 75 vreg g ;
(A) G (B) Hud

(A) Tfea (3) T
(A) @EVrE® (B) w@MEl®
(A) B&IY (B) &=mam

(€)
(C)
(C)
(C)
(©)

(C)
(C)
(C)
(€)
(©)
(C)

(B)
(D)

(©)

(C)

(A) Taraam (B)y fammm
fEm (9. 748 78) : vaigaTe 7 g -
3=

(A) &= (B) I
GL|

(A) HuT (B) =W
ITER

(A) w9 (B) faum
LCICL

(A) T (B) =¥
F LT

(A) TE (B) =9+
‘ufem w1 fadm neg 2

(A) 713 (B =9
TIAT $EAT TR 1 7Y 2
(A) O

(C) =zl 5[ 1 g
‘wfakg’ o ga| 2 g
(A) a= (B) dq¥d
"SI 1 Hifen 2

(A) ®2 (B) qfea
“Wa1° 7 |y faeda 2

(A) 1+ 36 (B) I+

(C)

———— i —————— e gy
'

=pelFl

el
wuifas

EHAN
faren

efit

&g AT

miferat &

(D) 3
(D) Hfe
(D) wnnfaw

(D) FHEATEMT
(D) 3ftam

(D) IeH
(D) g=d
(D) g
(D) #fa
(D) 3mFEl

(D) <3+

(D) =E:ifg

(D) 3 & HIE T

(D) ¥+



84.

85.

86.

87.

88.

89.

v,

Which of the following is a [ndus Valley site ?

(A) Daimabad (B) Amri (C) Alamgirpur (D) All of these
frefafaa 3 & @b @ fay ol ®mE e 2

(A) 29TETg (B) mh (C) ¥ (D) g

Which deals with the procedure for the performance of sacrifice ?
(A) Rigveda (B) Samaveda ({C) Yajurveda (D) Atharvaveda

4 73 e fafird € gafua 2 2

(A) Fdg (B) R (C) TITg (D) uag
The southernmost Mahajanapada is

(A) Asmaka (3) Kosala (C) Matsya (DY Malla
gferura™ HEFATTE B

(A) STETH (B) e (C) T (D) T

Who fought the Kalinga War ? “
(A) Ashoka (B) Kanishka  (C) H| ar \ imbisara
e w1 g w1 ? N

Which was the first l!'g@;};:

(D) f&faar

o 1ssue silver coins 7

(A) Chandgduptad (B) Symudragupta gﬁ'
(C) Cha pra il (D) Kumaragupta
i) 3 fodeh] o S0 0 ST WU T[S THE i 97 7

(A) S=Z779 - 999 (B) TS (C) == - fadfiw (D) Frmrs

Which of the following was written by Harshavardhana ?
(A) Nagananda (B} Ratnavali  (C) Priyadarshika(D) All of these

frfalga 18 sar gdada g faa mar an 9
(A) AAPTHE (B) THIEH! () fiefdm (D) Ze®fl

Who founded Rashtrakutas Kingdom ?

(A) Dantidurga (B) Vishnu Vardhan
(C) Viaysena (12) Pulakesin [
gee U Y wmgr e 6 7

W gl @ femah (© fawain (D) T |

s e e e e I ——————_ S e S = ———
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91.

6.

97.

98.

49,

In which year Mahmud Ghaznavi plundered Somnath temple ?
fery = e ot 3 Sy w6 o w2
(A) 1009 AD (B) 1016 AD (C) 1025 AD (D) 1026 AD
Who is called the Father of Tomb building ?
(A) Ilwtmish (B) Firoz Shah Tughlag
(CY Ibrahim Lodhi (D) Balban
' fmivn s R s s 7
(A) Fegdiaa (B) THaamg g
(C) ATEm TN (D) &&=
Marco Polo, a traveller who belonged to
(A) I_galy (B) China (C) Morocco (D) Russia
UIeq1 I fopg em e o 7
(A) el (B) =M (C) MRt (D) =9
Who is regarded as the founder of modern Vaishnava sect of Bengal ?
(A) Namadeva (B) Tukaram
(C) Vallabhacharaya ) (D) Chaitanya
FI ST F FAYAF 0 TIGE FT FAD HET A1 8 2
(A) AT928 (B) eI (C) Feey=™E (D) a3
Who built the famous Buland Darwaja at Fatehpur ?
(A) Babur (B) Humayun (C) Akbar (D) Shahjahan
ferma wufing geig gamsn & famio wam 2 .
(A) @R (B) ®H (C) FF (D) wEAEl
The baitle of Buxar took place in which year ?
Tt 1 e form ad 73 ot 7
{A) 1757 By 1761 (C) 1764 (D) 1771
The mother of Shivaji was
A) Sarabai (B) Jijabai (C) Meerabai (D) None of these
o} =TI T AT R 7 ..
(A) ArEd (B) S | (C) WoEn (D) 57 B FIE 7]
Nickname of Rani Lakshmi Bai was
(A) Tulsi (B) Tanu (C) Manu (D) None of these
At S1afaTs o1 ST R ? o A
(A) gl (B) @1 (C) ™ (D) ¥ & F1% 7l
Widow Remurriﬂgf%;;rctjmv?sa%nuctcd in which year ?
faygar qafdars ik AN AT ?
(A) 1829 (B) 1833 (C) 1847 (D) 186

e o e . e S ey e ol B W
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100,

101.

102.

103.

104.

105.

106.

The first Governor General of free India was

(A) Lord William Bentinck (B) Lord Canning

(C) Lord Mountbatten (D) C. Rajagopalachari
TG WA 1 WY TTE S0 ol

(A) @is fafegm "ids (B) g ki

(C) @2 urI=ad (D) . T
Indian Reform Association was founded by

(A) Keshab Chandra Sen (B} M.G. Ranade

(Cy D.Pandurang (D) B.S. Jambhekar

e qur @eA (3fega fend wifaurm) 6w e & p
(A) vz EA  (B) WS R () dowgm (D) dud. e

Which of the following is a famous exponent of Kathak ?

(*\)} Sitara devi (13) Lakshmi Narayan Shashtri

{C) Rita devi (D) Nirmala Mchta
%ﬁﬁﬁﬁﬁﬂﬁﬂﬂqmmgﬁ@mnﬁﬂm%?

(A) Taam ¢h (B) e} s e 2

(C) T (D) Fen dgan

Glorious Revolution of England (1688) started against the policies of which
ruler ?

(A) KingJamesTl (13) Hitler C) Mussolini (D) None of these
forer Treen ) e o faens fefe I (1688) W07 gS 1 2

(A fEmdm i (B) feeew (C) FEiferlt (D) @ g 7
Which is at the centre of our solar system 7

(A) Earth (B) Proxima Centauri

(C) Sirius (D) Sun

HH BT HNISA R R 0

(A) gz (B) wrem gadl (C) Hiftawm (D) g

Which is also known as fossil planet 7

(A) Moon (B) Pluto (C) Uranus (D) Titan

F1A Sfarm a7 i Faam 2 ? :

(A) 5% (B) =& (C) g (D) A
Summer Solstice is on

(A) 21" March (B) 22" December

(C) 23" September (D) 21" June

I FAAA FE BT R 7 -
(A) 217€ (B) 22femmmm  (O) '*3111?:131 (D) 2153

L ——————— SR S —
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107.

108.

109.

110.

111,

112.

114.

Which atmospheric layer plays role in radio communication 7

(A) Troposphere (B) Stratosphere (C) Mesosphere (D) lonosphere
e Ham 4 A | argageia wa yinen frd @ 2

(A) amrEs (B) WrEmisd (C) HwHSH (D) HATEAHSH

Which 1s not a greenhouse gas ?

(A) Carbon monoxide (B) Carbon dioxide

(C) Methane (D) Chlorofluorocarbons
1 i gha R e T R 2 X

(A) ma:mmacmsg (B) mﬁ?mﬁﬂﬁg

(C) A (D) SRR

Tornadoes occur in which region ?

(AY Camibean Sea (B) Indian Ocean(C) ChinaSea (D) USA
e frmemdame?

(A) Hifegaam (B) fagmsmm  (O) aﬁ'—ﬁm. (D). JuFa

Humidity is measured by which instrument ?
(A) Hydrometer (B) Pyrometer (C) Hygfémet Altimeter

e CGIRE EOF Bt 1 1 e
(A) EEgHir (B) T

Isohels are lines r.}{'eqm

(D) el

(C) Pressure (D) None of these
(C) TAH (D) F9H ¥ I3 e

(A) inea current (B) Florida current
(C) Kuroshio Current (D) None of these
FA = vt T amnd § 2

(A) Tt R (B) wEriE arn (C) FOfnsd wrmd (D) T B I8 A8

. Sunda strait connects Indian Ocean with

(A) ChinaSea (B) JavaSea (C) BayofBengal(D) Black Sea
Hl TASHEHE (88 HETEFT i _
(A) SHftaqz  (B) SEIwEgz  (C) W @ (D) Wil /R

Victoria lake is located in which continent ?
{A) Australia (B) hoﬂh America(C) Africa (D) Lurope
faw2iia 3ie fra merga d ¢ 7 i

(A) AFefam (B) I9ft s (O) mﬁrqﬂ (D) gy

b AL B . S AL M e o e— i —
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115, Rourkela is famous for which Industry in India ?

(A) Dairying  (B) Cutlery (C) Iron & Steel (D) Cigars
WItd B U3then form 3am < fau wfag 2 2

(A) il (B) el (C) =g asEmm(D) fam

116. Persia was the old name of which country ?

A) Iran (B) Iraq (C} Japan (D) Srilanka
%ﬂ%mmgwqmqﬁimwr;
(A) Fm (B) & (C) <M (D) i

117. North-South extent of India is

(A) 3214km _ (B) 2933km  (C) 7516km (D) None of these
WRa F IR A i gl 2

(A) 3214km  (B) 2933km  (C) 7516km (D) ¥ A F¥H
118, Burzil pass is located in which Indian State / UT ?

(A) J&K (B Daman & Diu(C) Goa (D) Mizoram
& Wi < fom g/ wem 5 fRm 2 2

(A) TELIRFEA(B) TR IR (C) 7= (D) frErm
119, Mahabharat range is located in which country ?

(A) India (B)_ China {C} Nepal (D) Bhutan

R *@en fha qu tl fRm 2 2

(A) W (B) (C) v (D) e
120. Javadi hills are the part of which of the following, ?

(A) Western Ghat (B) Eastern Ghat gfg

(C) Vindhyan range (D) Satpura range

el vaifent frafafaa 8 4 e am 2 2

(A) gfediae  (B) qdiur (C) femmEen (D) ®agsl *REe
121. Which of the following is a west flowing river ?

A) Narmada (B)  Krishna {C) Godavari (D) Mahanadi

’[F—rqﬁfmc Y doffan ) s gz ach a2 2

(A) e (B) F=m (C) Tl (D) merd

122, Which Indian state-has highest private forests in the count

2
A) Odisha (B} Gujarat (C) Rajasthan {B'] Assam
Wi o= o gn < waifus i g1 8 2

(A) Aifsm (B) ToE (C) T (D) a7
123. Which is not a plantation crop ?

(A) Tea (B) Coftee (C) Tobacco (D) Sugarcane

F " woe g 8 2 .

(A) 91 (B) =T (C) =g (D) =0
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124. Jamnagar oil refinery is located in which Indian state ?

A) Gujarat (B) Kamataka (C) Kerala (DY West Bengal
erfefega # | farg yiedta g i wmer ander frergrd faE 2 2
(A) T (B) wFAlew (C) & (D) ufyam ame

125. Vivek Express connects Dibrugarh with which of the following ?
AY New Delhi lfg;l Mumbai (C) Kolkata (D) Kanvakumari
Ry Frofataa 0 | frost e a sredi 22
(A) Hfeeelt By =2 (C) Hei@d™ (D) FAHHQ
126, The headquarters of the North-Eastern Railway is at which of the following
places ?
(A) ;‘-"."{lhiilhfld (B) Bhubneshwar(C) Gorakhpur (D) Iaipur
= fr=fefaa 0 8 fen R o sm-gEHi en w5 geren fea g 7
(A) FATEHETS (B) Y= (C) TEq (D) TAX

127, Which is the main source of transport ol the trade items in India ?

{A) Air Transpon (I3) Surface Transpon
(C) Maritime Transport (D) Both (A)and (B)
YA 1§ &Y 31 6 Iiaga o e 6 = d 2

(A) TaT$ IRaed (B) TAR SitagA

(C) a9 wfaes (D) (A) 3T (B) A

128. Which is a tidal port ?
(A) Kandla _ (B) Paradecp (C) Chennai (D} Ennore
HIA | =G1{g €SUnE R ?
(A) I (B) 9 (C) =1 (D) TR
129, Project Elephant was launched in which year ?

arstae weitre (gref uieiemn) fea ad oo & ol 7

(A) 1973 (B) 1975 (C) 1992 (D) 1996
130. Who was the chairman of the Drafting Committee of the Indian Constitution ?
(A) Sardar Patel (B) J.L. Nchru
(C) Dr. B.R. Ambedkar . (D) Dr. Rajendra Prasad
WG Hiagur <R wres wfivfa & areger w4 9
(A) TGRS RS RE
(C) 3I. .3, F=z (D) 3. T 701G

131. Which part of Indian Constitution deals with Amendment of Constitution ?
(A) Part X1 (B) Pann XIX  (C) Part XX (D) Part XII
VT WIGUT &1 &I /1 NI HgH= §Ina= 1 Haidd 2 2
(A) WM XIT  (B) WWIXIX (C) MM XX (D) WF XII

S et L L S, ELe e O fo i F il 2 s i ULl L e Lo KLt el T T R S Y WY W WS S E e m—— . diilid
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132. In which year Bombay was bifurcated into Gujarat and Maharashtra ?

135,

136.

[37.

138.

fepy ard v a1 U S HERTY | fe g e 9

(A) 1953 (B) 1956 (C) 1958 (D) 1960
. Which is not a fundamental right ?
(AY Right to Property (B) Right to Equality
(C) Right to Freedom (D} Right against Exploitation
1 T Afers i T 3 2
(A) Hufd &1 HfIsER (3) HHME @ HfHT
(C) wdar &l AfaFn (D) i & faeg wfusn

. Minimum age required to become the President of India is

{A) 25 vears (B) 30 yecars (C) 35 years (D) 45 years

W 1 g a4 & o e e 3y 8
(A) 254 (B) 30 (C) 35ad (D) 457

Who appoints the Judges of a High Court ?

(A) President (B) Governor

(C) Chief Ju-.th nflndﬂ (D) None of these

(A) Tafa (B) T==raTe -
(C) T & q&F =i (D) 379 § &rd T

Who enjoys the real executive authority in Indian Parliamentary system of
government ?

(A) President (B) Prime Minister

(C) Parliamentary Affairs Minister (D) Speaker of Lok Sabha

WITd BUR 6] §HA1G AUITed] H & 1H arefeah W 1 I FTa 2 2

(A) Tgufd (B) WemAe

(C) HHEW AT & Wil (D) TIHEI h HEHE
The ex olficio chairman of Rajya Sabha is

(A) President (B) Vice President
(C) Speaker of Lok Sabha (D)} None of these
=T TYT < qeA 315581 2

(A) Tmafa  (B) Iw-ugdfa ¢ (C) TiEEWanEE (D) $E A ®1 A8

Which of the following has longest tenure as Prime Minister of India ?
(A) J.L. Nehru (B) Dr. Manmohan Singh
C) Indira Gandhi (D) R;uw Crandhi

i 1 9§ fhme WId o Sur=R & &9 1§ Jiiys o e T8
(A) .09 TEw (B) 7. madiEd fag
(C) sfem et (D) TS e

T S — = £ o
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139. Total number of Lok Sabha seats from Nagaland is

arreiE 1 st H e Hie &

(A) 1 (3) 2 (C)y 3 (D) 4
140. Which is the longest session of the Parliament ?

(A) Budget Session : {B) Monsoon session

(C} Winter Session (D) None of these

FHA T EAC FI HAO AT TAR 7

(A) &9¢ (B) auimEm g (C) Wawelr a3 (D) 70 & = 78

141. Estimates Committee of the Parliament consists of how many members ?

Tog, &l Wiawer aftfd § frm gem g € 0
. A 15 (BY 22 (C) 30 (D) 35
142. First Woman Judge of the Supreme Court was
(A) LeelaSeth  (B) Shilla Kaul (C) Fatima Beebi(DD) None of these
J=ITH =T ) wug afgen =i ot
(A) dendz (B) #WEww (Q) n:r%m:ﬂa*L (D o s T

143. Nationalist Congress Party was formed in which year ?

form ad Tpand} (Gymferee) @iy urd Hi T g

(A) [885 (B) 1925 @ (D) 1999
144. PPP stands for
PPP & & arad 2 7
(A) Purchasing PowerPasity (B) Purchasing Private Partnership
(C) Public Purc ﬁ  Part ership (D) Public Purchasing Parity
145, n Net? % Brdduct is calculated at Factor cost, it 1s called
Ay ik Infome (B) National Development Index
%C} Development Index {D) None of these
9 YUY IS ) U HIGA ST W B &, o 38 hEd €
(A) T ™ _ (B) T fasprs Fawis
(C) uHg feed FEwE (D) 9 A 13 T
146. Planning Commission has been replaced in 20135 with which of the following ?
(A) Finance Commission (B) Resource Planning Organization
C) NITI Aayog o (D) None of these
ferfera o & feper@ 2015 % A 3 ) wieawni foan mn 2
(A) fam smam (B) wamA P wed
(C) ifer amam (D) 34H d F18 FE
147. *Growth with Social Justice and Equality” was the main objective of which
five year plan ? . )
{:&; )FiI'T.IF (B) Seventh (C) Ninth (D) l:lcw.'enlh'
i g ST T @ 3234 I =4 SR FHar 6w fawm dn?
(A) giedi (B) Tt (C) ¥ (D) TAREd

- Y E——— T —
. —————— A — e it —
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148.

149.

151.

154.

L B — i 1 8 o NS T

The type of unemployment if a person does not contribute anything in the
preduction process is called

(A) Frictional unemployment (B) Cyclical unemployment

(C) Open uncmployment (D) Disguised unemployment
ﬂﬁ%ﬁﬁﬁmﬁfﬂﬁﬁlﬁﬁﬂﬁﬂﬁﬁm%ﬁlwmﬁWﬁ
E| 1

(A) gdueRs: St (B) <R SUSTA
(C) e STl (D) ¥=o= F=TA

Mid Day Meal scheme was launched in which year ?
TS, MTTH qrerr fope ad o g3 ot 2

(A) 1995 (B) 1998 (Cy 2002 (D) 2005
. White Revolution is related to the production of
(A) Eggs (B)_ Milk (C) Cotlon () None of these
Y il (e JeTeA  Haft @ 7 o
(A) 33 (B) gu (C) &I (D) 38 A FE TG

NABARD is related to which of the following ?
(A) Agriculture and Rural Development

(B) Insurance

(C) Import & Export Management

(D) None of these

i
|

=
i:.

NABARD fa=fafiga § 8 feug gafaa 2 7
(A) pfa 3k amfim e (B} <mr
(C) 3T 3 gl wavs (D) 38 G T8

. The headquaners of RBI is at

(A) New Delhi (B) Bengaluru  (C) Hyderabad (D) Mumbai
mewmmﬁmﬁ&még ? .
(A) Hfeeeh (B) IR (C) ®eUEmR (D) 093

. Which is a direct tax 7

(A} Profession tax %B] Corporation tax
(C) Entertainment tax D) Both (A) and (B)
T G TG TR ? :

(A) STTHE H (B) Frm =t

(C) WARSH = (D) (A) 3R (B) A
Indiais a

(A) Mixed Economy (B) Capitalist Economy
(C) Communist Economy (D) None of these
m%.@ " &

(A) fafaa arefemaeen (B) el aiemaen
(C) Fr=EMEE] (D) FH & HI AL

L —————— s e e —
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156.

158.

159.

160,

161.

162,

. National Flag was adopted by the Constituent Assembly of India on

(A) 9 December, 1946 (B) 22 July, 1947
(C) 15 August, 1947 (D) 26 January, 1950

ST < HTT 391 ZT0 T8 @ 1 Sffien o fiman a7 2

(A) 9 femm, 1946 . (B) 223w, 1947

(C) 153774, 1947 (D) 26%=ad, 1950

[ndian Forest Service was created in

Wl & {1 1 @A e g 47 7

(A) 1950 (B) 1936 (C) 1962 (D) 1966

. Civil Services day is observed every year on

{A) 21 April (B) 21 May (C) 21 June (D) 21 July
mﬁmﬁmﬁm{ﬁiﬁaﬁﬁmg)wﬁ PG FATI AL 7
(A) 213s (B) 21 (€) 211 (D) 21 s

Who is the Chairman of Inter-State Council 9

(A) President (B) Prime Minister

(€) Vice President (D) Unton Home Minister
Qg % AR A B 9

(A) Tgafa (B) yymE (C) swgsfs (D) F=E

National School of Drama was set-up in which year 7

T 177 Al (T Ehet TR ) =6t T fopm ad g i o

(A) 1954 (B) 1955 (C) 1957 (D) 1939

‘Project Arrow” is an initiative in service quality improvement of which
department ?

{A) Department of Posts

(B) Department of Agriculture
(C) Department of Science & Technology
D) None of these

<) Hen TOTee 3 HUT R WioEe 30 UF TEE 8 0
(A) B favm (B) e faym
(C) fasm afv drenfirf fam (D) =9 | 13 981
Mishra Dhatu Nigum Limited is located at
A} Mumbai  (B) Hyderabad (C) Bengaluru (D)) Coimbatore
% urq fm fafnes sl it feua @ 7

(A) T8 (B) BeTEmR (C) =rew (D) wIgEg

The Centra] Electricity Authority is a/an

(A) Constitutional body (B) Statutory body
() :}dvis-:}r}{\hndy @ " (D) h.;n-ge of these
HrAL [T T (Hge geiegaidl aneiiidt) R uem

(A) Wit Frem (B) adurf frwma
(C) vl fprg (D) 774 & &1 7
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163.

164.

165.

166.

167.

168.

169,

170,

Which regulates the Insurance Sector ?

(A) RBI (B) SEBI (C) IRDAI (D) None of these
w1 i & B ke s g 2 | . |
(A) e (B) FA(SEBY) (C) Imdamediuag (D) 76 8 B
In electric moter, electrical energy changes into which form of energy ?

(A) Sound cnergy (B) Heat energy

(C) Mechanical energy (D) None of these
ﬁgﬁﬁaﬁfﬂgﬂwﬁhmmfﬁmﬁqﬁaﬁhéfﬁ%“

(A) wREat (B FewaA () FEEFA (D) H ° HI1E T

The value of gravity is minimum at

{A) Poles (B) Equamr (C) Tmplcs (D) None of these
ﬂt-rﬂlfﬁlffLﬂdeWf{'{g 7 _ .

(A) W@ (B) fgem (C) Fwfeau (D) 30 4 1§ T
The Earth rotates on its axis from

(A) North to South (B} South to North A

i Wul to [ast (D)} Eastto West Eﬁ;ﬂ
geal 33u 311 SO 2

(A) IaAcm (B) gwdAIM (C) uFawdagd (D) [ & uiwEm

With rise in temperature, viscosity of liquids

{A) decreases (B} increascs

(C)} remains constant (D) first increases then decreascs
A | gfg & wrd oE 6w

(A) 9 &2 | (B) @@l )

(C) ferwdia (D) Y&t wgelt & foRt o i 2 |

Which of the following is not an electromagnetic wave 7

(A) o -rays (B)Y [3-rays (C) Cathode rays (D) All ol these
1§ 3 H fagm-Gadm a@ 1ei R 2

(A) a-femr By p-fem (O) FasfeEm (D) TREd

Which 1s used to sce distant objects ?

(A) Microscope (B) Telescope. (C) Periscope (D) None of these
@aaﬁmaﬁ%@ﬂéﬁ fee, 1 99+ §T R 7 o

(A) UEERERT  (B) dmERM (C) Yferid (D) 378 8 FE 7El
Which lens is used for correcting hypermetropia ?

(AY Convex lens (BY Concave lens{C) bifocal lens (D) None of these
dir R FFa s ena AT R E 2

(A) I ¥iF (B) Faadd  (C) feesadd (D) FHI SR -

e . T L R U W BN T . e 5 B e e o Sl . S ol S B T —— e
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